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5.

DOMAIN KNOWLEDGE

CSIR stands for :

(A} Council for Scientific and Industrial Rescarch
(B) Council for Social and Institute Rescarch

(C) Council for Scientific and Integrated Research

(D} Council for Space and Imtegration Hesearch

NCVT stands for :

(A} National Committee for Veterinary Training
(B) National Council for Vocational Training
(C) Navedaya Commiltee on Vocational Training

(I}) National Council for Vocational Teachers

NUEPA stands for :

(A) National University of Education Planning and Administration
{B) National University of Educational Plan and Approval

(C) Wational University of Educational Planning and Administration

(D) National University of Educational Plan and Administration

Indira Gandhi Ha:icrnal Open University (IGNOU} was sefup in ;
(A) 1934 (B) 1985
(C) 1986 (D) 1987

All India Council of Technical Education was set up in ;
(A) 1987 (B) 1992
(C) 1995 (D) 1985
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When is "World Teachers Day’ celebrated 7
{A) January 13 (B) Febroary 28
{C) September 3 (I October 5

Choice of a vocation depends :

{4) Ease of admission

(B) Interest and skills of the leamer
(C) Subjects a student learnt at school

(D) Income generated by the occupation

According fo the concept of moral intensity, a worker is most likely 1 behave
ethically and legally when :

(A) A manager observes his or her behavior closely.

(B) The worker has inlense morals.

{C) The consequences of the acl are minor.

({3]] ﬁumn&nqummﬁﬁfmemmmhtamm

lnﬁemﬁwmmqmﬁmﬂMammmlmdmmwm’ﬁnhﬂhym
do the job should be avoided, including questions regarding the following
subjects

(A) Marital status (B) Age

(C) Religion (D) Al of these

Ckmammmaamdawdvdﬂlﬁhimllmdﬂﬂﬂpinﬂudﬂl -

(C) Trustworthiness (D) All of these
2
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1. In general terms, the duties expected of a professional are the maintenonce of

what five terms 7

(A} Doubt, objectivity, compeience, expectations, and virtue

(B} Security, integrity, competence, expectations, and judpment

(€1 Objectivity, integrity, competence, confidentinlity, and discipline

(D) Due care, honesty, planning, fidueiary duty, and ethical conflict resolution

12. A conflict of interest occurs when :

(A) The defence against influences js managed 1o ensure that all emplovees are

aware of the existence and consequences.

(B) When the independent Judgment of a person is swayed, or might be swaved,
from making decisions in the best interest of others wha are relying on the

judgment.
(C) Guidelines prove helpful 1o specify when it may be acceptable 1o give or
accept a gilt or preferential treatment,
(I3} None of the above.

13, The preferred approach to deal with conflicts of interests is -
(A) Managemlen'r (B) Disclosure
(C) Remediation (D) Avoidance
14.  The primary focus of a compliance-bused ethics program is
{A) Preventing, detecting and punishing violations of the law
(B} Define organizational values and encourage emplovee mmmihm‘nl
(C) Improve image and relatiomship with stakeholders

(D) Protect management from blame
M-1 3 P.T.O.
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15. wﬁnhmhgmwmwinsettnﬁmﬂmmld‘ﬂﬁmﬁm.ﬁrﬂlﬂmﬂy

16.

1.

abled persons 7
(A) Andhra Pradesh () Karnataka
(C) Kerala (D) Telangana

Cahinﬂhﬂnpp:wﬂthemmﬁmnfwhi:hwrmnduﬁaﬂmﬂ testing under
the Indian Societies Registration Act, 1860 7

{A) National Testing Agency

(B) National Educational Agency

(C) National Edueation Testing Agency

() Hminmlﬁighﬂrﬂmxaﬁnn"{haﬁnuﬁgmw ‘,
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What is the Wall of Valour 7

(A) Display of soldiers m designated places on educational campuses
(B} Initiative to instil nationalism in students

(€) Both {A) and (R)

(D} Neither of the above

What does QS in DS World University Rankings stand for 2
(A) Quacquarclli Symonds (B} Quacquarelli Dymonds

(C) Quacquarelli Simmons (D) Cuacquarelli Simon

Govemnment has appointed whom s the first woman 1IM director 7
{A) Neelu Rohmetra (B} Mala Srivastava
{C) Lata Pillai (D) Usha Subramanyam

Where did PM Narendra Modi on 19th Dec 2016 unveiled the first Indian Institute
of Skills 7

{A) Jaunpur (B) Kanpur
(C) Dispur (D) Jaipur

Which of these is the purpose of recruitment ?
(A) Make sure that there is match between cost and benefit

e L

(B) Help increase the success rate of the selection process by redueing the
number of visibly underqualified or overqualified job applicants. =

(C) Help the firm create more culturally diverse work—foree

(D) All of the above

5 r: 1.0,
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While recruiting for qon-mamagerial, supervisory and middle-management positions
which external factor 1s of prime importance 7

(A} Political — Legal (B) Unemployment rate

(Cy Labour market (1) (rowth and Expansion

Which of the following Acts deals with recruitment and selection 7
(A) Child Labour Act (B) The Apprentices Act

(€) Mines Act (D) All of these

(A) HRP (B) Selection
(C) Induction (D) None of these.

Rearrange the following sieps of recruitment :

I, Searching . Evaluation and control
Iil. Planning V. Screening

V. Stralegy development

(A) ML IL LV, IV @3 0oL v, LIV

€y v, v, 10, 1, 11 @ I, LIV, V1
mufmrummmmmﬁmmmmwhmmmmﬁ
to hire 7

(A} Geographic distribution nfhhnmmukﬂlsnmnpﬁsingiubmkeg
(B) Make or buy employees

(C) anmningihu-mliﬁﬂﬁintham:mimprmss

(D) All of the above
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What is the natural perception of people on the process of recruitment and
selection 7
(A) Positive (B} Negative

(C) Both positive and negative (D) None of these

Match the following general applications of performance sssessment with their
specific purposes :
L Administrative Uses/Decisions A, Pertormance Feedback

. Documentation B.  Lay-oifs

HI.  Organisational Maintenance/Objectives €. Helping 10 meet legal

requiretients
IV. Developmental Uses 3. Evaluation of HR systems
(A) 1-C, O-D, HI-B, IV-A (B) IB, II-C, II-D, IV-A
(C)y B, II-C, Hl-A, IV-D (D} I-A, 1-B, 1I-D, IV-C

How performance appraisal can contribute to a firm's competitive advantage 7
{(A) Ensures legal compliances

(B) Mimmimsing job dissslisfaction and turmover

(€) Improves performance

D} All of the above

Amange the following steps in the job analysis process in a chronological order :
(A) Gather information (B) Job specification

(C) Strategic choices (D) Process information

(E) Job description

(A) ABCDE " (B} CADER
(C) CBADE (D) EDCBA
7 P.T.O.
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33 thﬂiisﬂmﬁrﬂwnmm'sunwcmiryinlndia?
{A) SNDT
(B) Mother Teresa Women's University
(C) Avinashilingam University for women
(1) BPSMYV, Kanpur Kalan
34. Direct compensation includes which of the following 7
(A) Flexible benefits
(B) Long-term incentive pay
() Workers’ Compensation
(D) Unpaid leave

15, Indirect compensation is f:prﬁﬂﬂlﬁdhjl'lﬁi:hnfﬂ'm following 7
(A) Social Security benefits
(B} Short-term incentive pay
(C) Differential pay
(D) Merit pay
36 pPersonUased pay Sysiems :
(A) Pay higher Pﬂﬁmmwﬁﬂy
(E}Pﬂrtmplﬂlwmthlﬂﬂsmmnm
(©) ﬁﬂnﬂmﬂtﬂmhﬁmﬁﬂﬂﬂpu&ﬁlmﬂnmmm

(D) Pay employees ﬁrwhﬂﬂwymmﬂiﬂunfdnmﬂﬂmrﬂlmﬂmmqm
currently perform



37, A compensation program should address which of the following objectives 7
(A) legal compliance with all appropriate laws and regulations
(B) cost effectiveness for the Organization
(C) internal, external and individual equity for emplovees

(D) all of the above

38. Which of the following is 5 legally mandated benefip 7
{A) social security
(B} unemployment compensation
(C) workers® compensation
(D) all of the gbove

3%, Total benefits cost ({TBC) :

(A) is a ratio of benefit coxt per employee to average number of emplovees
(B) is exclusive of miscellaneous items such as edueation
(C) includes staff time, overhead, Processing costs

(D) is ot usually calculated because it varies so much

40.  An incumbent who is paid below the range set for the job ;

(A) red-circled employee (B} Ereen-circled employee
(C) blue-circled employee (D} None of these

41.  Variable pay is_also. known as :
(A) incentives . (B) group pay
(C) performance pay (D} (B) and (C)

M-1 9 P.T.O.




42. The Bqual Pay Act for equal work of same ckills. effort and responsibilities,

Whidtufdmfnﬂuw%ﬂgismrmmmpﬂunqﬂhism?

(A) Seniority (®) Performance

(€) Geographic location (D) Overtime
Whichnfﬂiefﬂllnﬂngi;mmmphbfpﬂym:ﬂiﬂmismnsimEumpm'ind
wpnriu_ddﬁiththnmmharufhnmmkﬂi:

(A) Wage (B) Salary

(C) Reward (D) Incentive

(A) Recruitment
(B) Human Resource Planning
(C) Human Capital Management

. Emﬂﬂgﬂ'ﬁmﬂhﬂhfﬁﬂﬂﬂhmmﬁmvﬂm&drmnﬁhﬂmuﬂmm

gbout their well-being is called :

(A) Behaviour

(B) Warkplace misbehaviour - -
(C) Organizational"behaviour

(D) Perceived orgamzational support

10
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50,

M-1

Which test assesses an individual's achicvement and motivational levels 7

(A} Guilford-Zimmerman Temperament Survey
(B) Minnesots Multiphasic Personality
(C) Thurstone Temperament Survey

(1) Thematic Apperception Test

A test that seeks to predict suceess or failure through ones handwriting is called :
(A) Grammatologist {B) Graphology
{C) Polygraph (D) Palmistry

s ocurs when an interviewer judges an applicant's entire potential for

Job performance on the basis of a single trait, such as how the applicant dresses

ar talks.
iA) Halo-effect (B) Unstructured
(C) Stress producing (D) None of these

The voluntary and involuntary permanent withdrawal from an organisation is
called :

(A) Tumover (B) Behaviour

(C) Misbehaviour {D) None of these

The emotional part of an attitude is called :

(A) Attitude -
(B) Affective component

(C) Behavioural component

(D) All of the abave
11 P.T.O,
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GENERAL ENGLISH

Choose the one which best expresses the meaning of the piven word ;
PERSPICUOUS

(A) Relevant (B) Precise

(C) Brief : (D) Clear

Find out which part of the sentence has an emor :

Vikram told me (a) / his name after (b) / he left. (c) / No emor (d)
(A) (a) (B) @)

(C) (e D) ()

Pick the right meaning of the following idiom and phrase :

(A) the evil intention (B) the nice intention

(C) 1o do something religious (I3 to help someone silently

Choose the one which is most opposite in meaning to the given word

I:lll_ﬂllflhlll
(4) Laudable (B) Ominous
(C) Dishonest (D) Terrible

Fill in the blank with suitable article :

Give ME...coeereares ..best book on Mathematics R 5
(A) an - (B) =
{C) the (D) no article
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M-1

Sclect the most: elfective word from the Biven options e fill in the blank apd
complete the sengence meaningfully

s DY nature, Jones spojs very little even 4 his wpy Faarmily Miembers,
(A) Garruloys (B) Arrogant

{C) Equivoca] (D) Tacityry

(A) enjoy/am pot enjoying (B) am enjoving haven’; enjoyed
(€} enjoy/dony enjoy (D) enjoyed/haven'y enjoved
13 P.T.0.




59, Pick out the most effective word from the given aptions 1o fill in the blunk 10
make the sentence meaningfully complete

Many of the advances of civilization have been conceived by young people just

on the...cccismminaminas of adulthood
(A) boundary (B) threshold
(C) Peak (D) Horizon

60, Choose the misspelt word from the words given below |

. Ankel 7. Anxiety
3. Accommodation ' 4,  Allergy
(A) 1 m 2
<3 | o) 4

nhuﬁum{{}.ﬂuﬁltnﬁﬁ}‘ﬂﬂﬂ ﬂ:ninﬂnﬂngplnag:tn:mﬂ'thaqnaﬂum
given below :

hnﬂnisknnumhyihemnkhﬂrmhnsnaﬂubyﬂtmpmfh:kwpﬁﬂuﬂme
hnmnpm&umtﬁpnfmhuwﬂlunfwmﬂmsshuuldamﬁm‘mm
mmwmithnfﬁnhmufm 3 :

ﬁgmdbmkmybammngﬁubﬁtnf&imnhth:mcm&wﬂmﬁlalm
mﬂﬁﬁuwm.'nhhmﬂpﬁmﬁmﬂﬂw. It
dnﬂﬁmwhsbmknpﬂnhthnﬁufudmﬁtjmdmmﬁﬂmysmﬁmm
ﬁmhmw;mmmmmmmmﬁmmmﬂm
us in age.
61. Mdhﬁﬂnﬁngmﬂhmmmwnﬁmﬁﬂﬂﬁrma@mm?
(A) Books show the reader’s character
(B) Books as man’s abiding friends
(C) Books are useful in the youth
() Tlﬂhmmmeuftmk&inuldngz.

M-1 14




e T — a—

62.  Which of the following is opposite i Meaning to the wrd ‘adversity OCeUrring
in the passage
(A) happiness (B)  prosperiry
(C) progress (D) misforiune

3. The statemens, “2 pood book may be among hes of friends,” in the PASSIEe means
that :
(A) there canngg h:&hntt.:rfrifudthnnagmdbﬂcrk
(B) h-micgmnyhcgm}dﬁimds.butnmﬁﬂmthangund men,
(C) a good boak can be included among the best of i‘n‘::glds of mankind,
(D) uwbtﬂﬁ'iuﬂdsrcadthnhnmgmdbonh.

64.  According 1o the passape. which of the following statements is not true 7
(A) Good books as well a9 good men always provide the finest company,
(B) A good hmkﬂmcrbm‘a}rsus.
(C) “’:hqwanmﬂhnesmb:paﬂmn-imnbmkasit may bore us,
(D) Aéﬁmm&mmapﬂmﬁim&

65, Awmdingmr.hnpﬂmagp,ﬂnmﬂ may usually be known by the books he reads

because :
(A) I-[ismdinghah-imﬂlmlhmheisnschﬂar,
(B) Thebmkshermdsaﬁ‘pﬂhisthinhng.




Directions : (€. Nos. 66 to 70) In the following passage, some of the words have
been left out. Choose the correct amswer to each guestion out of the four
alternatives and fill in the blanks :

Fear and anxicty are perverse forms of will. Fear is always o feeling to be _ (66)
because what you fear is just the thing that is __ (67) o come o you, Fear

__ (68)__ the object of fear. Unhappiness  (69)
the __ (70)__ for your transformation.

the strength. This truth is

66. (A) argued (B) denied
() refused (D) rejected
67. (A) likely
(B) easily.
(C) possibly
(D) probably
68. (A) invites : : :
(B) atiracts
(C) activates
(D) avoids
69. (A) inactivates

(B) suppresses
(C) weakens
(D) climinates

0. (A) remedy (B) reason
(C) answer D) ey

M-1 ' 16



GENERAL AFTITUDE

7. The difference between C.I and S pcerited on an amount of Ks, 20000 in
2 years was Rs. 392, Find the rate of interest Per annum.

(A) 11.5%
(B) 13%
(€) 14%
@) 12%

T2. Ageu-f'l:mtherlﬂ}rearsiguWHEIimusﬂwtgcafhﬂm-Aﬂalﬂ}-:urs,
muﬂm‘sageﬁillhclwimﬂwufhiathdmemﬁn of their present ages.
(A) 11:7 %

(B) 9:5
C) 7:4
D) 7:3

3. If 5* = 3125, then the value of 5l ~3) s -
(A) 25
(B) 125
(€) 625
(D) 1625

7. What will be the day of the week 15th August, 2010 7
(A) Sunday )
(B) Monday
(C} Tuesday
(D) Friday

M-1 17 P.T.0.




Directions : Study the jollowing pie and fine charl carefully and answer the guestion
given beside,

The pie chart given below gives the information aboul percentage distribution of child
labours from five different cities. The line graph given below gives the information
about the percentage of child labours with respect 10 total population of the respective
cilies,

Total number of child labours = 4800

The percentage of child labours with respect 10 total population qf the
respective cities

0.60%

0.50% 0.50%

0.40%

0.30%
0.20% ~0.20%

' 0a0%

n-m I._- = = i

M-1 18




78 The number of child labours in the city A is: wha percentiage of the 1o
Population of the City € ? :
(A) 1.28 (B} 0.4%
(€) 0.6% (D) 0.8%

76. A motor car does g Joumney in |6 hours, covering the first half at 30 kmvhr ang
the second half a1 S0 kmhyr What is the distance covered 7

(A) 480 kim (B) 500 km
(C) 540 km (D) 600 km

7. The average age of a clags of 70 students iz 20 years. If the age of teacher is
included, then the average increases by 3 months, Find the age of the teacher.

(A) 25.2 years (B) 275 years

(C) 29 years (D) 315 years
78. Complete the series : 2, 7, 27, 107, 427, 7

(A) 1262 (B) 1707

(C) 4027 (D} 4207

7. In a certain code language, OPERATION is written as NODQBUJPO. How is
INVISIBLE written in that code 7 '
(A) JOWITICMF (B) JOWTIHAKD

(C) HMUHTJCMF (D) HMUHTHAKD

North-east direction ofhismuﬂinc.Fmthnrh:mmlusmc!iemBinan
office 15 km in the south of his client A’ office, How far from the starting point
!ndinwhuidirenlinnish:mw? -

(A) 8 km, west (B) 8 km, east

(€) 7 km, west . (D) 7 km, east
81. Tectonics Building : . Taxidermy ; 7

(A) Classification (B) Conserving

(C) Stuffing (D)  Collecting

M-1 19 P.T.O,




82.

M-1

Bl

A ranks fourth in a class. B ranks ninth from the las, 1T C is ninth after A and
just in the middle of A and B, how many students are there in the class 7

(A) 33 By 32

() 31 30

Giatement 1 Government has spoiled many 10p raking financial institations by
appointing bureaucrats s Directors of these institutions.

Conclusion 1 ¢ Government should appoint Directors of the financial institutes
waking into consideration the expertise of the person in the area of finance.
Conclusion 11 : The Dircclor of the financial institute should have cxpertise
commensurate with the financial work carried out by the institute.

(A) Only conclusion I follows (B) Only conclusion 11 follows

(C) Either 1 or 11 follows (D) Both 1 and 11 follow

Salnctamhahleﬁgmeﬁumﬂwfumdmaﬂwaﬂmwuuldmplmlhnﬁgm
Ir y "

X[X
2 X
X

o oo 6 @

(A) 1 B) 2

(€ 3 D) 4
Diuﬂuuﬂ:ﬂuﬂythnfﬂluwinainfumuﬁmmﬁuﬂymdmwﬁmqmﬁﬂn
given beside : -
1WE!EKT%MF*‘LECB&FIE@UP?DS'EEC?A

Huwmﬂmhlﬁmmmﬂminlh:abuwmmgemmhmhnfwhimis
immﬂiamlyp:wadﬂdbyunmihurmdhnmadiuuwfmwwﬂhyamm?

(A) 1 ®) 2
(Cy 3 (D) 4
20
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GENERAL KNOWLEDGE

TISS stands for -

(A) Tata Institute of Social Sciences
(B) Tertiary Institute of Social Sciences
(C) Thapar Institute of Special Stream
(D) None of the aboye

For which bank, PV, Bharathi Was appointed as MD and CEQ 9
{A) Axis Bank (B)  Yes Bank
(C) Cormporation Bank (1) Industand Bank

5 "

Turkmenistan launched its first messaging app on 24th December 2018, It was
named as

{A) TurTan (B) Nimbuzz
(C) Kakao (D) BizBarde

The Centre and Asian Development Bank (ADB) have signed an 85 milliog dollar
loaf to improve skill development ecosystem in which of the following states ?

(A) Andbra Pradesh (B) Uttar Pradesh
{C) Bihar (D) Odisha
Researchers have developed the world's smallest.................board game by using
dynamic DNA origami tiles,
{A) Chess (B) Tic-tac-toe
{C) Checkers (B}  Stratego
21 P.T.O.




95.

18th November was observed as the :

(A) National Press Day
(B} Intemnational Day for Tolerance
(") Remembrance for Road Traffic Victims

() World Pneumonia Day

Which company won the CTI-Exim Bank Business Excellence Award ?

(A) HAL (B) BEL

(C) TATA (D) Mahindra

Which of the following pair won an International James Dyson award 2018 for
designing a 'Urban wind turbine' called O-Wind Turbine

{A) Nicolas Orellans, Yaseen Noorani

(B) Arian Richard, Samuel Rolland

(') Peter Prentice, Michael Regan

(D) Sean Preston, Mike Delfino

Which city is known as Electronic City of India’ 7
(A) Mumbai (B) Hyderabad
(C) Guragon (D) Bangalore

The first Chief Minister of Haryana State Shri Bhagwat Dayal Sharma remain
Chief Minister of Harayana for.......o..d8Yy5.

(A) 145 B) 193
(C) 208 (D) 143

22
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96. Who is the Haryanvi freedom Aighter ook part in Great Revolt of 1857 2
(A) Canga Singh Gurjar
(B) Ram Bahadur Singh
(C) Kartar Malik
(D) Shamby Dayal Sharmg

97. In which village of Haryana world's oldest lndys Valley Civilization site s found ?
(A) Rakhigarhi
(B) Rukhagarki
(C) Rukhagarhi Kalan

{2} Madina and Farmana Khas

98, How long a person shoyld have practiced in g High Count to pe cligible 10 he
ppointed as a Judge of Supreme Court of Indig 9

(A) 10 Years (B) 12 Years
(C) 15 Years (IY) 18 Years

99. Via which among the following amendmenis of the Constitution of India, Delhj
was designated as National Capital Territory (NCT) 7
(A} 63rd Amendment Act (B)  69h Amendment Act
(C} 74th Amendment Act (D)  76th Amendiment Act

100, The Sixth Schedule of the Indian Constitution deals with the administration and
control of Scheduled Areas and Scheduled Tribes in the four states of

(A) Manipur, Mizoram, Tripura and Magaland -
(B) Assam, Meghalaya, Tripura and Mizoram

(C) Assam, Meghalaya, Arunachal Pradesh and Nagaland
(D) Assam, Meghalaya, Mizoram and Negaland

M-1 23 ——
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